College Algebra — Joysheet 7T
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MAT 140, Fall 2012 — D. Ivansic¢ Show all your work!
Simplify, so that the answer is in form a + bi.
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3. (4pts) Simplily and justify your answer.
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7. (12pts) The quadratic function f{r) = r* — 6r + 13 is given. Do the [ollowing without
using the calculator

a) Find the r-intercepts of its graph. if any. Find the y-intercept.

b) Find the vertex of the graph.

c) Sketch the graph of the function. {'E|I'
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8. (ldpts) Ella mows a rectangular yard of size 43 x 35 yards. She finds that her 1505
square yards are too much work to mow, so she decides to decrease the size of the mowing
area by reducing the length and width by the same amount. If her target vard area is 900
square yards. by how much should she reduce the length and width of her current vard?
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